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FOREWORD 

This report on the Candidates’ Item Response Analysis (CIRA) in Commerce 

subject in the Advanced Certificate of Secondary Education Examination 

(ACSEE) 2019, has been prepared so as to provide feedback to the education 

stakeholders and the public in general on the performance of the candidates.  

The Advanced Certificate of Secondary Education Examination (ACSEE) 

marks the end of two years of Advanced Secondary Education. It is a 

summative evaluation which, among other things, shows the effectiveness of 

the educational system in general and the education delivery system in 

particular. Essentially, the candidates’ responses to the examination questions 

is a strong indicator of what the educational system was able or unable to offer 

to the candidates during their Advanced Level Education. 

The analysis given in this report is intended to contribute towards the 

understanding of some of the reasons behind the candidates’ responses in 

Commerce subject. The report highlights the factors that made majority of the 

candidates to perform well in the examination. The factors include the ability 

to identify the demands of the questions, ability to follow the examination 

instructions and sufficient knowledge on the subject matter. However, poor 

performance in some of the questions could be attributed to the candidates’ 

failure to identify the demands of the questions, misconceptions, insufficient 

explanation and description, as well as lack of knowledge on some concepts 

related to the subject matter. 

It is expected that the feedback provided in this report will enable the education 

administrators, school managers, school quality assurers, teachers and students 

to identify appropriate measures to be taken in order to improve the teaching 

and learning process. This will eventually improve the candidates’ 

performance in future examinations administered by the Council.  

Finally, we would like to thank all those who participated in the preparation of 

this report.  

                                                            
Dr Charles E. Msonde 

EXECUTIVE SECRETARY 
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1.0 INTRODUCTION 

 

This report analyses the performance of candidates who sat for 152 

Commerce subject for the Advanced Certificate of Secondary Education 

Examination (ACSEE) that was done in May 2019. The examination 

tested the candidates’ competences as stipulated in the Commerce syllabus 

for Advanced Level Secondary School, which was issued in 2010 and 

2015 Examination Format. 

 

The examination consisted of two (2) papers: 152/1 Commerce 1 and 

152/2 Commerce 2. Each paper had eight (8) questions divided into two 

(2) sections, A and B. Each section had four (4) questions; each carrying 

twenty (20) marks. The candidates were required to answer five (5) 

questions in each paper. In both papers, the candidates were required to 

choose three (3) questions from section A and two (2) questions from 

section B. Question number one (1) was compulsory in both papers.  

 

A total of 1,625 candidates sat for Commerce paper in May 2019. The 

examination results show that 1,605 (99.88%) candidates passed while 2 

(0.12%) candidates failed. However, the results of 18 candidates were 

withheld due to various reasons. The rate of candidates’ performance in 

this year has increased by 0.14 percent as compared to 2018, performance. 

In 2018 out of 1,529 candidates who sat for that examination, 1,514 

(99.74%) candidates passed and 4 candidates (0.26%) failed.  

 

The performance of the candidates has been analysed as good 

performance, average performance and weak performance. The scores of 

the candidates with good performance range from 12 to 20 (60 to 100%) 

marks, average performance from 7 to 11.5 (35 to 59%) marks and weak 

performance from 0 to 6.5 (0 to 34%) marks. For easier interpretation of 

the candidates’ performance, three colours (green, yellow and red) have 

been used to represent good, average and poor performance, respectively. 

These different levels of performance illustrate the candidates’ 

performance per question as well as performance per topic as seen in the 

figures and Appendices. 

 

Furthermore, the report analyses the performance of the candidates in each 

question by showing the demands of the question, the expected responses 

and how the candidates responded to the question. Figures and samples of 

extracts from the candidates’ responses have been incorporated into this 

report to support the analysis. 
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2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH 

QUESTION 

 

2.1 152/1  COMMERCE PAPER 1 

2.1.1 Question 1: Insurance 

Question 1 was compulsory and was attempted by all 1,625 (100%) 

candidates. The candidates were required to justify the statement Insurance 

is necessary to both traders and the government in their day-to-day 

activities. Candidates were expected to justify the statement by explaining 

the three needs of insurance to traders and the government. The candidates’ 

performance is this question was generally good since 1,302 (83.2%) 

candidates scored from 12 to 20 marks, 277 (14%) scored from 7 to 11.5 

marks and only 46 (2.8%) candidates scored from 0 to 6.5 marks. The 

performance of question 1 is summarised in Figure 1.  

 

Figure 1: The performance of the candidates in Question 1 

The majority (83.2%) of the candidates scored high marks as their scores 

ranged from 12 to 20 marks. Their performance implied that they had 

sufficient knowledge on the tested item. Most of these candidates correctly 

explained the needs of insurance saying insurance is necessary because it 

enables traders to cover for serious illnesses use, it as a means of savings 

and build confidence in trade. Furthermore, through insurance traders can 

also be assured of business continuity, make proper use of financial 

resources and access loans from different financial institutions/individuals.  
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Moreover, these candidates explained that insurance is necessary to the 

government because it enables the government to generate revenue, 

promote trade, stabilize the country’s balance of payment, creates 

employment opportunities and economic growth. However, the candidates’ 

scores varied according to their ability to clarify the points mentioned and 

the number of correct points given by individual candidates. Extract 1.1 

shows a sample of a good response from one of the candidates who scored 

high marks. 
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Extract 1.1: A good response from one of the candidates 

 

In extract 1.1 the candidate correctly explained the necessity of insurance 

to both traders and the government. 
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Furthermore, 277 (14%) candidates scored from 7 to 11.5 marks; this is 

average performance. Their performance reflected that they had partial 

knowledge of the importance of insurance to traders and the government. 

Some candidates provided only three necessities of insurance to traders but 

highlighted only one government necessity out of the required three 

points. Other candidates managed to identify all the points but failed to 

provide adequate explanations in some of the points.  

 

Unlike candidates with an average performance, 46 (2.8%) candidates 

scored low marks (from 0 to 6.5). The reasons for low marks include 

inadequate knowledge and poor understating of the demands of the 

question. Most of the candidates mentioned only one correct point on both 

parts. The correct point explained by almost all candidates on traders was 

compensation; this could be due to the fact that they knew that insurance 

aimed to compensate the insured. They also mentioned that insurance is a 

source of government revenue but a few candidates were able to provide 

correct explanation. A few candidates in this category answered the 

question contrary to its demand. Some of the incorrect responses given by 

these candidates include: the procedures for taking up insurance, how the 

insured can be compensated by the insurer and the way through which 

government can support insurance companies in their day to day activities. 

Likewise, other candidates mentioned some correct points but they failed 

to relate with relevant explanations. However, some of the candidates 

managed to provide correct introduction with a few number of correct 

points. Extract 1.2 shows a sample of poor a response from one of the 

candidates who scored low marks. 
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Extract 1.2 shows a sample of candidate’s poor response in question1  

 

The candidate explained some insurance concepts instead of the necessity 

of insurance to traders and the government.  

 

2.1.2 Question 2: Trade 

In this question, the candidates were required to analyse eight business 

challenges facing domestic traders in Tanzania. The question was 

attempted by 1,613 (99.3%) of the candidates who sat for the examination. 

Among them, 1,497 (92.8%) candidates scored from 12 to 20 marks, 109 

(6.8%) scored from 7 to 11.5 marks and 7 (0.4%) scored from 4 to 6.5 

marks. The general performance of the candidates was good because 99.6 

percent scored from 7 marks and above. The performance of question 2 is 

summarised in Figure 2. 
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Figure 2: Performance of the candidate in Question 2 

The candidates who scored high marks correctly analysed the business 

challenges facing domestic traders in Tanzania. Their performance could 

be attributed to the fact that trading activities are common in the society; 

even among the candidates. It is possible that candidates leant the 

challenges facing domestic traders directly from their parents/relatives 

who engage in domestic trade. The majority of these candidates exhausted 

all the points as per the demands of the question. The correct responses 

given by these candidates were: business risks, lack of business training, 

poor business knowledge, poor communication facilities, poor storage 

facilities, limited area to locate the business, price fluctuation, high taxes 

and inadequate capital. However, some of the candidates in this category 

could not score full marks because they did not present correctly the 

introduction and conclusion parts but also a few of them provided 

inadequate explanations on some points. Extract 2.1 is a sample of a good 

response from one of the candidates who scored high marks. 
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Extract 2.1 shows a sample of a good response from one of the candidates.  

On other hand, the candidates who scored average marks (7 to 11.5) 

analysed some challenges of domestic traders in Tanzania but mixed their 

responses with the challenges which are not experienced in Tanzania. 

These candidates mentioned challenges like civil war among the regions 

and high political instability which are not experienced in Tanzania. Other 

candidates listed correct challenges but failed justify how they become 

challenges to domestic traders. The variation of the candidates’ scores 

depended on the number of correct points given and the ability to explain 

the points correctly. 
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However, few candidates (7) scored low marks (4 to 6.5) had because their 

responses revealed insufficient knowledge about the concept of domestic 

trade. Most of these candidates pointed a few correct challenges but failed 

to link them with requirements of the question. Others provided few 

correct points mixed the points with the qualities of a good retailer. Extract 

2.2 shows a sample of a poor response from a candidate who scored low 

marks. 

 
Extract 2.2 shows a sample of poor response 

 

The candidate mentioned some correct challenges but failed to provide 

correct explanations. 
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2.1.3 Question 3: Transport and Communication 

Question 3 had two parts; (a) and (b). In part (a), the candidates were 

required to describe five main aspects of communication with the aid of 

diagram. In part (b), they were required to explain three factors that 

hinder effective communication. The question intended to test candidates’ 

knowledge of the aspect of communication and what happens if there is 

any interference in any of the aspect. 

The question was attempted by 1,354 (83.3%) candidates. A total of 942 

(69.6%) candidates scored from 12 to 20 marks, 233 (17.2%) candidates 

scored from 7 to 11.5 marks and 179 (13.2%) candidates scored from 4 to 

6.5 marks. The general performance candidates in this question was good 

because as 1,175 (86.6%) scored 7 marks and above out of the 20 marks 

allotted. The performance of the candidates in question 3 is summarised in 

Figure 3. 

Figure 3: The performance of the candidates in Question 3 

The candidates who scored high marks (12 to 20) had thorough 

knowledge of the concept of communication. In part (a), the candidates 

were able to draw a diagram showing the five aspects of communication 

and clearly described them in an orderly manner. In part (b), the 

candidates were able to correctly analyse the factors that hinder effective 

communication. These candidates understood the meaning of effective 

communication and what makes effective communication. In addition, 

the candidates were able to identify the barriers of effective 
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communication. The barriers of communication explained include 

language barrier, noise, improper channel, poor preparation of the 

massage, the attitude of the sender and receiver of the message, 

inadequate knowledge of the message (poor translation of the message) 

and inconsistencies in the message. The quality of candidates’ responses 

in this question varied with respect of clarity of the relevant points and 

the diagram given by each individual candidate. Extract 3.1 presents of a 

sample of a good responses from one of the candidates who scored high 

marks. 
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Extract 3.1 shows a good response in question 3 

This candidate correctly described the main aspects of communication 

with the aid of a diagram and explained the factors that hinder effective 

communication. 
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On the other hand, 233 candidates who scored average marks (7 to 11.5) 

had some weaknesses in their responses. Their responses revealed partial 

knowledge of the subject matter, particularly the aspects and barriers of 

communication. Most of these candidates provided partial responses in 

both parts of the question. The candidates were able to describe the 

aspects of communication in (a) but failed to draw the diagram showing 

aspects of communication as required. Some of the candidates drew the 

diagram correctly but they failed to describe some of the aspect correctly. 

Partial responses were observed in (b) where many of the candidates 

explained only one point; namely noise which was followed by other 

incorrect responses. However, some candidates answered part (b) and 

partially part (a) by explaining the two aspects sender and receiver. 

The analysis further shows that the candidates with low scores which 

range from 3 to 6.5 marks had insufficient knowledge of the concept of 

communication. There were some candidates who drew the diagram and 

described only two aspects which are the sender and the receiver of the 

message. They did not include other aspects in their responses. In 

communication there must be a message that the sender intends to convey 

to the receiver, the path through which the massage will flow from either 

the sender or the receiver (media) and the feedback from the receiver of 

the message. Some of the candidates could not identify the demands of 

the question in either part (a) or (b), and hence, provided irrelevant 

responses in parts.(a) and (b). In part (a) for example, some of the 

candidates explained the types of communication namely; written, oral, 

and visual, instead of the aspects of communication which are sender, 

message, media, receiver and feedback.  

Additionally, the analysis indicates that there were some candidates who 

mentioned the correct points such as noise and channel but could not link 

the stated points with the explanations on how did they counted as 

obstacles in part (b). Some candidates outlined the factors to be 

considered in choosing the appropriate channel of communication such 

as: cost of the channel, speed and urgency, distance, length of the 

message and nature of the message being transmitted instead of 

explaining the factors that hinder effective communication. Moreover, 

other candidates explained the steps involved in planning for 

communication, such as objectives, key audience, identifying the channel 

and evaluating the result. Extract 3.2 is a sample of a candidate’s poor 

response. 
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Extract 3.2: A poor response from one of the candidates. 

 

The candidate’s response based on the means of communication instead of 

the aspects of communication and few factors that hinder effective 

communication. 

 

2.1.4 Question 4: Stock Exchange 

Question 4 had two parts; (a) and (b). In part (a) the candidates were 

required to examine four ways used in issuing new shares in stock 

exchange market, and in part (b) they were required to analyse four 

qualifications of being a member of the stock exchange.  

The question was attempted by 263 (16.2%) candidates. There were only 2 

(0.8%) candidates scored 12 marks, 103 (39.1%) candidates who scored 

from 7 to 11.5 marks and 158 (60.1%) candidates who scored from 0 to 

6.5 marks. It was the least opted question and its performance was average 

since 60.1 percent of the candidates scored below 35 percent of the20 

marks allocated. The highest score in this question was 12 marks. The 

performance if the candidates in question 4 is summarised in Figure 4. 
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Figure 4: The performance of the candidates in Question 4 

 

The candidates who scored average marks (7 to 11.5) had partial 

knowledge of the concept of stock exchange, especially of the ways used 

in issuing new shares as required. However, few candidates mentioned the 

ways such as by placing and by offer but could not provide sufficient 

explanations on the stated ways. Other candidates mentioned the terms as 

used in price quotations in relation to buying and selling of shares. These 

candidates however, could not explain the ways which are through 

prospecting, by placing, by tender, by offer for sale and by issue to 

existing shareholders. There were also candidates who explained some 

advantages of the companies being quoted and the advantages of holding 

shares in stock exchange market contrary to the requirements of the 

question. 

 

However, many candidates had correct responds well in part (b) which 

required the candidates to explain qualifications required for one to be 

accepted as a member of a stock exchange. The majority were able to 

explained some qualities like age (18 years and above). The age of the 

person who wants to be a member of stock exchange should be 18 years 

and above because he/she can make judgment on the issues relating to 

shares, he/she can be sued on any matter relating to shares, he/she must 

provide referees in the form of a proposer and seconder, he/she must 

obtain a nomination from a retiring member, he/she also must be mentally 

sound and he /she should have not being bankrupt in the dealings.  
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Apart from the average performance, 60.1 percent of the candidates had 

poor performance because they scored below 7 marks. The main reason 

for the poor performance was incompetency in stock exchange topic. 

Many of these candidates elaborated in part (a) either the procedures 

involved in handling the subscribed capital of a company such as; 

application, first call, final call and allotment of shares or wrote about the 

terms used in issuing shares such as; shares issued at a discount, par-value 

of shares, shares issued at a premium and bonus issue which were 

incorrect. Some candidates managed to explain at least two correct 

qualities out of the three required qualities in part (b). Most of the 

candidates mentioned points like age of 18 years or above, being mentally 

fit and had never been declared bankrupt but not all of them managed to 

describe the correct points. Some of the candidates provided explanations 

related to partnership instead of a member of stock exchange. Other 

candidates explained the qualifications required for a company to be 

quoted at a stock exchange; the qualifications mentioned include the 

company must be registered, its shares should be freely transferable and 

the company should be a public company instead of the qualities of being 

a member in stock exchange. Extract 4.2 shows a sample of a poor 

response from one of the candidates.  
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Extract 4.2: Is a sample of a poor response. 

 

In extract 4.2, the candidate incorrectly explained the ways in which shares 

bought can be paid for in part (a) and some of the conditions of the quoted 

companies in part (b). 
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2.1.5 Question 5: Banking 

The candidates were required to evaluate four similarities and four 

differences between central bank and commercial banks. A total of 593 

(38.5%) candidates attempted this question, out of which 470 (79.3%) 

candidates scored from 12 to 20 marks, 116 (19.5%) candidates scored 

from 7 to 11.5 marks and only 7 (1.2%) candidates scored from 3 to 6.5 

marks.  

The general performance of the candidates in this question was good. The 

performance is summarised in Figure 5. 

 

Figure 5: The performance of the candidates in Question 5 

The analysis shows that the candidates who scored high marks (12 – 20) 

had good understanding of Central bank and Commercial banks. The 

candidates were able to evaluate the similarities and differences between 

the two types of banks. They explained that, Commercial banks and 

Central bank are similar because customers can present their valuable 

items and documents to both the banks for security purpose and can get 

advice from both. In addition, commercial banks advise their customers 

but the central bank advices Commercial bank. The central bank accepts 

deposits from commercial and non-commercial banks, as well as other 

financial institutions in the same way that commercial banks accepts 
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deposits from individuals or a group of people. At the same time 

candidates noticed that the two types of banks issues deposits and provide 

loans to their customers.  

 

The two types of banks can be differentiated in terms of the forms of 

ownership, customers dealing with, power to control money in supply, the 

ability to control foreign exchange differences and issuing of currency 

among others. 

 

Many candidates in this category explained almost all the correct points 

but their explanations had sight few discrepancies in both similarities and 

differences, especially on the points such as accepting and issuing of 

deposits. The candidates explained about the depositors in commercial 

banks but partially explained depositors of the central bank. Extract 5.1 is 

a sample of a good response form one candidate.  
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Extract 5.1: A sample of a good response in question 5 

The candidate correctly evaluates the similarities and differences between 

the central bank and commercial banks. 
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On the other hand, the candidates who scored low marks (3 – 6.5) showed 

inadequate knowledge of the types of banks: central bank and commercial 

banks particularly knowledge of the banks’ features. The candidates 

revealed weak comprehension of the requirements of the question. Some 

candidates however, explained at least two correct similarities and 

differences but they failed to relate their explanations with the mentioned 

points. Among the correct points explained by the majority were 

concerned ownership and providing loans to customers. In ownership, they 

explained correctly that central banks are owned by the government while 

commercial banks are properties of individuals and companies and forgot 

that the government also had some shares in commercial banks. Extract 

5.2 shows a sample of a candidate who scored low marks. 

 
Extract 5.2 shows a poor response from one of the candidates. 

 

In extract 5.2, the candidate wrongly compared central bank and commercial 

banks. 
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2.1.6 Question 6: Wholesale Trade 

The question had two parts, (a) and (b). In part (a), the candidates were 

provided with a statement “A wholesaler cannot be eliminated from the 

channel of distribution” and were required to argue for the statement using 

five reasons. In part (b), they were required to examine four disadvantages 

of wholesale trade.  

A total of 1,084 (66.7%) candidates attempted for this questions out of 

which 788 (72.7%) candidates scored from 12 to 19.5 marks, 257 (23.7%) 

candidates scored from 7 to 11.5 marks and 39 (3.6%) candidates scored 

from 1 to 6.5 marks. The candidates’ performance in this question was 

good because a total of 1,045 (96.4%) candidates scored from 7 marks and 

above. The performance in question 6 is summarised in Figure 6. 

 

Figure 6: The performance of the candidates in Question 6 

The majority of the candidates who scored high marks provided strong 

argument for the statement given in part in (a) and correctly examined the 

disadvantages of wholesale trade in part (b). These candidates were aware 

that the wholesalers’ functions can be performed by other agents but for 

effective performance of the business it is better for the wholesalers 

themselves to do the tasks. The candidates also explained that it is difficult 

to eliminate a wholesaler from the channel of distribution because not all 
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producers and retailers had sufficient storage facilities, transport facilities, 

not all retailers can afford to buy directly from the manufacturers. On top 

of that, some manufacturers cannot sell direct to consumers or retailers 

also not all retailers can afford to buy in bulk as wholesalers. They also 

showed that it is possible for some wholesalers’ tasks to be done by other 

agents even through its not economical.  

The disadvantage of wholesale trade can be looked at the side of the 

wholesaler, manufacturer, retailers and consumers. The correct responses 

include high initial costs, the risks of bad debts, fall in price and fall in 

demand of some commodities, high operation costs, delay of information 

that led to business loses and selling goods at high profit margin. For 

example, in wholesale trade, the traders may delay to convey the 

information to manufacturers and retailers hence create loses, they can 

create unnecessary shortage of goods in the market hence increase in price 

of goods. The variation observed in the candidates’ scores depended on the 

accuracy of explanations and number of points given. Extract 6.1 shows a 

sample of a response from a candidate who scored high marks. 
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Extract 6.1 presents a sample of a good response in question 6 

 



32 

The candidate correctly agued on the reasons for not eliminating a wholesaler 

form the distribution channel and explained the disadvantages of wholesale trade. 

 

In extract 6.1 the candidate who was able to argue for a given statement and 

explained the disadvantages of wholesale trade 

Besides, the candidates with good performance, 23.7 percent of the 

candidates had average scores; ranging from 7 to 11.5 marks. These 

candidates supplied at least two or three reasons explaining why 

wholesaler should not be eliminated from the channel of distribution in 

part (a) of the question. They also managed to examine at least two out of 

the required four disadvantages of wholesale trade. Some candidates 

answered correctly part (a) and highlighted a few correct disadvantages of 

wholesale trade in part (b). 

On the contrary, 3.6 percent of the candidates who attempted question 6 

scored below 7 marks indicating poor performance. The reasons for low 

scores included partial knowledge on the examined concepts, 

misconception of the requirements of the question, particularly in part (a). 

Instead of arguing for the given statement, some of the candidates argued 

against it. Other responses which show misconception of the question are 

from the candidates who explained the members involved in the 

distribution channel with the exception of the wholesaler. For example, 

one of the candidates explained the circumstances that enable wholesaler 

to achieve the set objectives like availability of market, good transport and 

communication facilities, good relationship with manufacturer and 

retailers, availability of goods needed from the manufacturers, and 

demand of the goods in the community instead of arguing against 

eliminating the wholesaler. There were some candidates who tried to 

answer both parts but they provided few correct points in each part. 

Extract 6.2 presents a sample of poor responses from one of the candidates 

who scored low marks. 
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Extract 6.2 shows a sample of a poor response in question 6 

In extract 6.2, the candidate argued against the statement given in part (a) and 

incorrectly answered part (b). 
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2.1.7 Question 7: Advertising 

The candidates were required to analyse four main types of advertising and 

give four functions of advertising agencies. The question was attempted by 

951 (58.5%). The performance in this question was good because 750 

(78.9 %) candidates scored from 12 to 19.5 marks, 166 (17.4%) candidates 

scored from 7 to 11.5 marks and 35 (3.7%) candidates scored from 0 to 6.5 

marks. This performance is summarised in Figure 7. 
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Figure 7: The performance of the candidates in Question 7 

 

The analysis of the candidates’ responses shows that the candidates who 

scored high marks (12 – 20) were able to analyse main types of advertising 

in the first part of the question and provided the functions of advertising 

agencies. They were aware that there are some products/services in which 

customers are aware of but they need to be reminded or persuaded to buy 

through advertising. Likewise, they knew that customers need to be 

provided with information relating to the use of new products/services 

available in the market. These candidates also understood that sometimes 

producers of similar products can join together in advertising their 

products to customers. Furthermore, the candidates explained the 

advertising which enables the customers to compare or differentiate the 

products/services made by different producers.  

Most of the candidates were able to give four functions of advertising 

agencies which include: to create the advertisement, producing the 

advertisement, to communicate with the advertising medium and placing 
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the advertisement, Advertising agencies conduct market research, provide 

advice to the advertiser on the appropriate media to be used and 

coordinate the advertising process as they link between the two parties, 

that is, the advertiser and the advertising medium. The variation of the 

candidates’ scores was caused by individual candidate’s ability to provide 

correct explanations as per the requirements. Extract 7.1 is a sample of a 

good response from one of the candidates. 
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Extract 7.1 shows a sample of the candidate’s good response in question 7 

 

The candidate correctly analysed the types of advertising and gave 

functions of the advertising agencies.  

 

However, 35 (3.7%) candidates who scored low marks (0 to 6.5) were not 

able to give correct responses to the question. Some of the candidates 

mentioned only two correct types of advertising persuasive and 

information mixed with some incorrect points which reflected the 

classification of advertising according to the geographical location. For 

example, the candidates mentioned regional advertising, national or 

international advertising as types of advertising instead of generic and 

competitive advertising. These candidates also gave some correct 

functions of advertising agencies though the explanations given to some of 

the functions did not relate with the functions mentioned. Moreover, there 
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were some candidates who attempted correctly only part (a) but failed to 

explain the functions/importance of advertising in part (b).  

In addition, there were some candidates who mentioned the purpose of 

advertising instead of the functions of advertising agencies. Some of the 

incorrect responses given by these candidates include creating the 

company’s image and remanding people about the existing products or 

services and sustain the demand of goods and services advertised. This 

shows that these candidates failed to differentiate between functions of 

advertising and functions of advertising agencies. Extract 7.2 is a sample 

of a poor response from one of the candidates. 
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Extract 7.2 presents incorrect response form one of the candidates 

 

This candidate explained different advertising media and the need of 

advertising instead of types of advertising and the functions of advertising 

agencies. 

 

2.1.8 Question 8: Production 

The candidates were required to provide six points explaining how 

industries benefit from specialization. A total of 625 (38.5%) candidates 

attempted this question, out of which 468 (74.9%) candidates scored from 

12 to 19.5 marks, 143 (22.9%) candidates scored from 7 to 11.5 marks and 

14 (2.2%) candidates scored from 0 to 6.5 marks. Generally the 

candidate’s performance in this question was good. The general 

performance is summarised in Figure 8. 
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Figure 8: The performance of the candidates in Question 8 

The analysis of responses shows that the candidates who scored high 

marks (12 to 20 marks) had clear understanding of the advantages of 

specialization in the production process to industries. They explained most 

of the benefits industries realized from specialization in the process of 

production. These candidates had good introduction and conclusion parts. 

The expected responses were: specialization benefits industries in the 

aspect of time and energy saving, improvement on the quality and quantity 

of output, It improves the workers skills, it reduces the wastage of 

resources, It encourages the effective use of machines and working tools in 

every stage of production, It promotes efficiency in production with the use 

of machines and specialized labour force, It promotes trade within and 

outside the national boundaries, It leads to innovation, It facilitates 

planning and management of work and workers, which results in greater 

efficiency. However, the candidates’ scores varied in accordance with the 

number of correct points and correct explanation given. Extract 8.1 shows 

a sample of a good response from one of the candidates. 
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Extract 8.1: A good response from a candidate who explained how 

industries benefit from specialization in the production process 
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The candidates who scored low marks (0 – 6.5) failed to explain most of 

the benefits of specialization to industries. Many of the candidates 

understood the demands of the question but they had inadequate 

knowledge on specialization. They provided correct points like time 

saving, increased output and improved quality of output but they provided 

general benefits of specialization instead of being specific to industries. 

Their responses also included the importance of industries to the 

government and community instead of the benefits of specialization to the 

industries. Other incorrect responses given by the candidates showed the 

factors to consider in establishing industries and not the benefits of 

specialization to industries. Most of these candidates collected few marks 

in introduction part and at least one correct point. Extract 8.2 is a sample 

of response from a candidate who scored low marks. 

 

Extract 8.2 
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Extract 8.2: Shows a sample of a poor response from one of the candidates  

 

In extract 8.2 the candidate explained some general advantages of 

specialization instead of being specific to the manufacturer. 

 

2.2 152/2 COMMERCE PAPER 2 

2.2.1 Question 1: Business Units 

The question required the candidates to explain six essential factors that 

should be considered before selecting a suitable form of business unit to 

undertake. This question was compulsory and it was attempted by all 

1,625 (100%) candidates. 759 (46.7%) candidates scored from 12 to 19.5 

marks, 619 (38.1%) candidates scored from 7 to 11.5 marks and 247 

(15.2%) candidates scored from 0 to 6.5 marks. The candidates’ 

performance in this question was good because 1,378 (84.8%) candidates 

scored from 7 marks and above. The performance is summarized in Figure 

9. 

 
Figure 9: The performance of the candidates in Question 1 
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The candidates who scored high marks had good understanding of 

business units. Despite slight discrepancies observed from the candidates’ 

responses, the majority of them explained almost all the required factors to 

consider in selecting a suitable type of business units. They also observed 

the essay writing steps. The variation of the candidates’ scores was due to 

individual candidate ability to provide sufficient number of factors in 

accordance to the demand of the question and the clarity of the factors. 

Extract 9.1 shows a sample of a good response. 
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Extract 9.1: A good response from a candidate who correctly explained the 

factors to consider before choosing the type of business units to undertake. 
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The candidates who had low marks (0–6.5) were 247 candidates. These 

candidates exhibited incompetency in business units topic. However, some 

of these candidates had some idea on the subject matter but could not 

deliver the correct response as per demands of the question. They 

explained partially the factors like capital, easiness in formation and 

nature of business. Other candidates scored few marks only for 

mentioning the factors because they did not reflect the real points 

expected. For example, one of the candidates incorrectly explained the 

nature of business as the nature of goods to be sold whether perishable or 

durable. In addition, in the point of easy in formation the candidate 

provided vague statements like, “some businesses are easy to form”.  

Furthermore, some of the candidates misconceived the requirements of the 

question and hence ended up in providing unrelated responses. Some 

candidates mentioned important documents needed in the formation of the 

company and the factors taken into consideration in the location of a 

business. Others mentioned factors that hinder the achievement to some 

business units; for example, inadequate capital, poor business managerial 

skill, poor transport and communication, shortage of supplies and high 

sales tax instead of factors to be considered in selecting a suitable business 

unit to undertake. Extract 9.2 shows sample of a poor response from a 

candidate who misconceived the demands of the question. 
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Extract 9.2: A sample of poor response from one of the candidates 
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This candidate explained some of the document necessary for the 

registration of the public companies instead of the factors necessary to 

consider when choosing form of business unit to undertake 

2.2.2 Question 2: Import Trade 

The question required the candidates to elaborate six common sources of 

information available for importers in Tanzania. The question was 

attempted by 1,393 (85.7%) candidates out of which 797 (57.2%) 

candidates scored from 12 to 20 marks, 420 (30.2%) candidates scored 

from 7 to 11.5 marks and 176 (12.6%) candidates scored from 0 to 6.5 

marks. The general performance in this question was good because 87.4 

percent scored from 7 marks and above. Figure 10 summarises in the 

performance of the candidates in question 2.  

 

12.6

30.2

57.2

0

10

20

30

40

50

60

70

80

90

100

0 - 6.5 7 - 11.5 12 - 20

P
er

ce
n

ta
g
e 

o
f 

C
a
n

d
id

a
te

s

Scores

 
Figure 10: The performance of the candidates in Question 2 

 

The analysis reveals that, the candidates who scored high marks (12 – 20) 

understood the sources of information which importers in Tanzania 

require. Some of the candidates elaborated all the required sources of 

information and presented their responses in essay form. Furthermore, 

some candidates cited example of media advertisements as an independent 

point “internet”, therefore, they could not score full mark in this point. 

Others explained consular services in error as consular invoices. The 

correct responses mentioned by most of the candidates in this group were: 

media advertisements commercial banks, Tanzania Trade Development 

Authority (TanTrade), information displayed on packages of the imported 
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goods, consular services, International trade exhibitions and trade fairs, 

Tanzania Investment Centre (TIC), Business delegations from other 

countries, Tanzania Chamber of Commerce, Industry and Agriculture 

(TCCIA), ministry of trade and industries and foreign firms’ 

representatives found in the importer’s country. Extract 10.1 shows a 

sample of the response from a candidate who scored high marks. 
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Extract 10.1: Shows a sample of candidate’s good responses  

 

The candidate correctly explained the factors to consider before choosing 

the type of business units to undertake.  

 

Most of the candidates who scored low marks (0 – 6.5) mentioned some 

correct sources like advertising media though their responses based on 

examples of the media, chamber of commerce and import agents. However 

they could not manage to provide sufficient explanations about the 

mentioned sources. Some of the candidates mentioned media 

advertisements as a separate source by using different media used to 

convey the information like newspapers, television, radio broadcast, 

internet business, trade journals and outdoor advertising. They also 

pointed out the Board of Internal Trade (BIT) and Board of External 

Trade (BET) as separate source of information for importers. These 

candidates failed to understand that BIT and BET were former entities 

under the Ministry of Commerce and Industry which under the current 
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structure, are combined and functions handed over to the Tanzania Trade 

Development Authority (TANTRADE).  

In addition, the candidates who scored zero mark showed poor 

understanding of the demands of the question. Some of their responses 

were about the documents used in international trade, intermediaries, 

problems encountered by importers and exporters in international trade; all 

of which were contrary to the demands of the question. Extract 10.2 is a 

sample of a response from a candidate who scored zero. 
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Extract 10.2: A sample of incorrect response. 

 

In extract 10.2, the candidate elaborated some documents used in 

international trade instead of the sources of information to importers in 

Tanzania. 

 

2.2.3 Question 3: Marketing 

The candidates were required to analyse four advantages and five 

disadvantages of market research in business organizations. The question 

was attempted by 1,566 (96.4%) candidates out of which 1,232 (71.7%) 

candidates scored from 12 to 20 marks, 319 (20.3%) candidates scored 

from 7 to 11.5 marks and 15 (1%) scored from 3 to 6.5 marks. The 

candidates’ performance was good. The performance of the candidates in 

question 3 is summarised in Figure 11. 
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Figure 11: The performance of the candidates in Question 3 

 

The analysis of the candidates’ performance indicates that most of the 

candidates who scored high marks (12 - 20) had sufficient knowledge of 

market research. They correctly elaborated the advantages and 

disadvantages of market research to business organizations. Many of the 

candidates elaborated more than 75 percent of the required points 

correctly. They understood that if market research is properly conducted, it 

enables the entire business organization to make proper decisions on the 

business and monitor of business operations.  

The candidates also knew that through market research the business 

organization can identify different problems which may hinder their 

performance and find solutions. The also knew that market research 

allowed organizations to make prediction of the future market, get basic 

information about the market and use the market information to minimize 

risks. Moreover, market research facilitates innovation and creativity and 

enables business to know their competitors and plan how to compete. 

Apart from the advantages, they also were aware that whenever any 

business organization carried out a market research different resources are 

involved. The resources like qualified labour, sufficient funds, reliable 

transport and communication network, time, reliable number of 

interviewee make market research successful. Hence they concluded that 
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shortage of any of the resources is counted as disadvantage. In spite of 

good responses, the deviation of marks from individual candidates noted 

was due to their different abilities to analyse the correct points and keeping 

to the instructions of the question. Extract 11.1 shows a sample of good a 

response from one candidate.  

Extract 11.1 

 



57 

 



58 

Extract 11.1 shows a sample of a good response 

 

Only 1 percent of the candidates who attempted this question scored below 

7 marks. These candidates had insufficient knowledge of the advantages 

and disadvantages of market research. Some of the candidates were able to 

list a few advantages of market research such as knowing customer’s 

demand, risks minimization and knowing the competitors. The 

explanations given by these candidates were correct in part because of 

their inadequate knowledge. For example, one of the candidates analysed 

the point of risk minimization in relation to insurance instead of explaining 

how does it is an advantage in of market research. The common 

disadvantages mentioned by these candidates were two; lack of funds and 

expensive. Instead of analysing lack of sufficient funds and expensive as 

disadvantages of market research they confused them with lack of fund to 

build the market and expensive to buy the goods in the market. These 

responses showed that these candidates had partial knowledge on market 

research. Extract 11.2 is a sample of the candidates’ poor response. 



59 

 
Extract 11.2: A poor response of one candidate. 

 

This response was incorrect because the candidate wrote some general 

advantages of trade with a limitation of monopolistic business which was 

contrary to the demands of the question. 
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2.2.4 Question 4: The Organization and Management of a Business 

The question had two parts, (a) and (b). In part (a), the candidates were 

required to analyse five reasons that necessitate managers to delegate 

duties to their subordinates and in part (b), they were required to provide 

the main difference between line organization and staff organization. 

A total of 251 (15.4%) candidates attempted this question, out of which 

180 (71.7%) candidates scored from 12 to 20 marks, 34 (13.6%) 

candidates scored from 7 to 11.5 marks and 37 (14.7%) candidates scored 

from 0 to 6.5 marks. The candidates’ performance in this question was 

good. Figure 12 presents the summary of candidates’ performance in 

question 6. 

 

Figure 12: The performance of the candidates in Question 4 

The candidates who scored high marks (12 – 20) understood the meaning 

of the term delegation of duties and the importance of delegation of duties 

to managers. Many of the candidates were also able to explain the 

difference between line organization and staff organization. In part (a), 

most of the candidates analysed the reasons that necessitate managers to 

delegate duties to their subordinates despite a slight discrepancies 

observed in their responses in some of the points. Among the correct 

responses from the candidates include: carrier development which is 

practiced through specialization, improvement in performance, health 
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relationship between managers and subordinates, avoidance of errors and 

mistakes.  

However, a few of the candidates provided the correct description on 

either staff or line organization but could not show the difference between 

the two forms of organizations in part (b). In differentiating the two types 

of organization structure, the candidates were required to know how the 

information and authority in each type flow and who makes the decision. 

Extract 12.1 is a sample of the responses from a candidate who scored 

high marks. 
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Extract 12.1 presents a sample of a good response in question 4. 

 

The candidate correctly analysed the reasons that necessitate managers to 

delegate their duties and distinguished line organization from staff organization. 

 

Further, the analysis revealed that the responses from 37 candidates 

(14.7%) who scored below 7 marks had a lot of discrepancies. The 

responses revealed insufficient knowledge of management and business 

organization and misconception of the requirements of the question. Thus, 

the candidates had low scores in each item attempted. The candidates who 

scored at least from 5 to 6.5 marks were able to give at least one or two 

correct reasons for delegation of duties and differentiated the types of 

organizations given. Others answered only part (a) though most of their 

responses were incorrect and they could not answer part (b).  

Further, the candidates who scored zero confused the demands of the 

question; hence, responded contrary to the demands of the question. For 

example, some of the candidates explained the principles of organization 

in part (a) instead of the reasons for a manager to delegate the duties and 

could not give the difference of the types of organizations in part (b). One 

of the candidates explained the limitations of delegation of duties to 

include lack of qualified staffs, increase in operation costs, dishonest of 

some workers, lack of confidentiality and poor relationship between 

managers and subordinates. The candidate confused staff organization 
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with span of control, therefore, incorrectly differentiated two 

organizational structures. Extract 12.2 presents a sample of poor response. 

 

Extract 12.2 shows a sample incorrect response from one of the 

candidates 

In extract 12.2, the candidate explained the management functions instead of the 

reasons that necessitate a manager to delegate their duties. 
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2.2.5 Question 5: Business Office  

 

In this question, the candidates were required to explain five advantages 

and four disadvantages of using office machines.  

 

This question was attempted by a total of 1,312 (80.7%) candidates, out of 

which 1,559 (88.3%) candidates scored from 12 to 20 marks, 140 (10.7%) 

candidates scored from 7 to 11.5 marks and only 13 (1%) candidates 

scored from 1 to 6.5 marks. The analysis shows that the candidates’ 

performance was good. The performance of the candidates is summarised 

in Figure 13. 

 

 
Figure 13: The Performance of the candidates in Question 5 

 

The majority of the candidates scored high marks (12 – 20). Apart from 

what they learnt in the classes, the other reason for candidates’ good 

performance was availability of different office machines in schools and in 

different offices the candidates occasionally visited. Some of the 

candidates operated some of equipments. The examples of office machines 

include computers, scanners, photocopier, calculators, staplers, punching 

machines and printers. Therefore, it was easy for the candidates to recall 

about the advantages and disadvantages of office machines. Most of the 

candidates explained the advantages and disadvantages of using office 

machine as required using some examples. The differences noted among 

candidates in terms of scores was caused by individual ability of the 

candidates. Extract 13.1 is a sample of the candidates’ good response. 
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Extract 13.1: A good response from one candidate who correctly 

explained the advantages and disadvantages of using office machines  

 

The analysis shows that, 10.7 percent of candidates who scored average 

marks (7 – 11.5) understood the requirements of the question and provided 

some advantages and disadvantages of using office machines. Some of 

them explained thoroughly all the advantages of office machines but failed 

to provide the relevant disadvantages. In addition, there were some 

candidates who mentioned almost all correct points but failed to give 

correct explanations in some of the points.  

 

On the other hand, there were few (13) candidates with the scores ranging 

from 1 to 6.5 marks. The candidates were not knowledgeable enough on 

the subject matter. Most of these candidates provided some correct 

responses but they confused advantages and disadvantages. Furthermore, 

most of these candidates could not explain sufficient number of points as 
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per question requirements and did not show introduction or conclusion in 

their essays. Extract 13.2 shows a sample of the candidates’ poor response. 

 

 
Extract 13.2 presents a sample of poor responses.  

 

The candidate confused disadvantages for the advantages and provided irrelevant 

response relating to using office machines. 
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2.2.6 Question 6: Foreign Trade 

In this question, the candidates were required to evaluate six commercial 

advantages of regional integration to a country like Tanzania. A total of 

964 (59.3%) candidates attempted this question. Among them, 888 

(92.1%) candidates scored from 12 to 20 marks, 70 (7.3%) candidates 

scored from 7 to 11.5 marks and 6 (0.6%) candidates scored from 4.5 to 

6.5marks. The overall candidates’ performance in this question was good. 

The performance is summarised in Figure 14. 
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Figure 14: The Performance of the candidates in Question 6 

The responses from candidates who scored high marks (from 12 – 20) 

reflect better understanding of the concept of regional integration. These 

candidates who scored all 20 allocated marks for the question exhausted 

all the required points. The good performance in this question had been 

attributed to the fact that the candidates were conversant with regional 

integration concept. The candidates were well informed from different 

sources such as through regional integration conferences and publications. 

For example, SADC and EAC conferences which among other things they 

discuss about market for products, quality of goods and services, 

employment opportunities, sharing of technology, specialization, 

cooperation among members, creation of conducive trading environment, 

protection of their industries and improvement of infrastructure. Therefore, 

apart from learning the concept in class the candidates used such sources 

of information in responding to the question. In their responses they 

included also the advantages of reginal integration like strengthening 
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bargaining power, variety of goods in the market and teamwork market 

research which reduce market research costs. Extract 14.1 shows a sample 

of a response from a candidate who scored high marks. 
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Extract 14.1 shows a sample of a good response 

 

In extract 14.1 the candidate correctly evaluated the advantages of regional 

integration to a country like Tanzania. 

 

Conversely, the responses of the candidates who scored below 7 marks 

showed that these candidates had no correct knowledge of regional 

integration and did not understand the requirements of the question. They 

explained some correct advantages as required by the question but they 

failed to provide correct explanations. For example, some of the 
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advantages provided did not match with the outlined advantages. Extract 

14.2 is a sample of a candidate’s poor response. 

 

 
Extract 14.2 shows a sample of a poor response from one of the candidates  

 

This candidate mentioned the importance of business instead of advantages 

of regional integration.  
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2.2.7 Question 7: Sales Contract 

The candidates were required to elaborate four rules regarding delivery of 

goods in a contract of sale and five ways in which an offer can be 

terminated. The question was attempted by a total of 199 (12.2%) 

candidates out of which 97 (48.7%) candidates scored from 12 to 20 

marks, 54 (27.4%) candidates scored from 7 to 11.5 marks and 48 (24.1%) 

candidates scored from 0 to 6.5 marks. The candidates' performance in this 

question was generally good as 75.9 percent candidates scored from 7 

marks and above. The performance is summarised in Figure 15. 

 

Figure 15: The performance of the candidates in Question 7 

The analysis shows that the candidates who scored high marks (12 – 20) 

were aware that in contract of sales there must be rules which govern 

delivery of the goods and the rules must be clearly stated in the contract. 

They understood that the rules are important to both buyers and sellers 

because they show the place of delivery, when the goods are to be 

delivered (time of delivery), who is to pay for delivery charges and what 

happens when the goods are in the possession of the third party. The rules 

reduce unnecessary contradictions between the two parties involved. Most 

of the candidates in this category, therefore, elaborated almost all the rules 

correctly.  
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In addition, they also comprehended that the readiness to create contract 

on the terms specified to the offer gives rise to binding contracts but there 

are some ways in which the offer can come to an end. They were aware 

that the offeree can reject the offer and the offer becomes effective from 

the time it is communicated to the offeror. Likewise, when the time for the 

offer lapses, failure to precondition, the death of either the offeror or 

offeree may lead to the end of an offer. The other way is by revocation 

which is only possible before the offer has been accepted and it becomes 

effectively when it is withdrawn by the offeror. The majority of the 

candidates outlined all the correct ways but elaborated at least three out of 

the required five. Extract 15.1 is a sample of a candidate’s good response. 
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Extract 15.1 shows a sample of candidate’s correct response  

 

In Extract 15, the candidate was correctly elaborated the roles regarding 

delivery of goods and the ways in which an offer can be terminated. 

 

Moreover, the candidates who scored from 7 to 11.5 marks (average 

performance) answered partially all the parts of the question. However, 

some of them were able to elaborate the required rules in part (a) and a few 

ways in part (b). Furthermore, other candidates in this category mixed the 

rules regarding delivery of goods with the rules governing offers and 

acceptance but they provided over three correct ways in which an offer can 

be terminated.  

 

Conversely, 15.2 percent of the candidates who scored low marks (0 – 6.5) 

had inadequate knowledge of the contract of sale especially on subject 

matter tested. Some of the candidates mentioned a few correct rules and at 

least one of the ways for termination of offer but failed to provide 

sufficient explanation. Apart from inadequate knowledge, some of the 

candidates could not interpret the question correctly. Some incorrect 

responses provided by these candidates include the remedies for the breach 

of a contract, types of offer, types of contracts, different terms of the 

contract and the essentials of a valid contact. For instance, one of the 

candidates instead of writing the rules regarding delivery of goods in a 

contract of sales s/he wrote the essential characteristics of a contract of 

sale of goods. This candidate had the following responses was: there must 
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be the seller and buyer, the subject matter of contract, of sale must be 

goods, sales and agreement to sell and transfer of ownership.  

Some candidates also wrote unrelated responses of the ways in which an 

offer can be terminated. For example, one of the candidates provided the 

following ways in which an offer can be terminated: binding contracts, 

voidable contracts, condition and the risk of loss. This response includes 

some elements like contractual capacity and terms used in contract of sale. 

Those responses show candidates’ inability to elaborate the rules regarding 

delivery of goods and the ways which an offer can be terminated. Extract 

15.2 shows a sample of an incorrect response. 
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Extract 15.2 shows a poor response from one of the candidates 

 

This candidate wrote the methods of buying the goods instead of the rules 

regarding to delivery of goods and the ways in which a contract can be 

terminated. 

 

2.2.8 Question 8: The Role of Government in Trade 

In this question, the candidates were required to justify the statement 

“Consumers need to be protected as final users of the products” by 

explaining six techniques used to protect consumers.  

The question was attempted by 778 (47.9%) candidates out of which 469 

(60.3%) candidates scored from 12 to 20 marks, 238 (30.6%) candidates 

scored from 7 to 11.5 marks and 71 (9.1%) candidates scored from 0 to 6.5 

marks. Generally, the candidates’ performance in this question was good. 

The performance is summarized in Figure 16.  
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Figure 16: The performance of the candidates in Question 8 

 

The candidates with high scores (12 – 20) showed good understanding of 

the role of government and non-governmental organization in trade, 

especially consumer protection. Most of the candidates explained the 

various techniques applied by the government and other stakeholders to 

protect consumers. They knew that customers can be assured of taking 

goods of the right quality, quantity and price through setting of bureau 

standards, price control, trade licensing, ministry of trade and industries, 

ministry of health, ministry of agriculture and livestock officers, social 

organizations, business associations, consumer associations and law and 

acts enacted by the government through Parliament. The candidates who 

scored all 20 marks managed to provide a good presentation of their essays 

and their responses covered all the required techniques used by the 

government, non-governmental organizations, traders associations and 

consumers’ own initiatives to protect consumers. Nevertheless, the 

candidates’ scores varied according to the contents of their responses and 

presentation. Extract 16.1 shows a sample of the response from a candidate 

who scored high marks.  
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Extract 16.1 shows a sample of candidates’ goods response. 

 

In extract 16.1, the candidate correctly explained the techniques used to 

protect consumers. 

 

Further, the analysis shows that the candidates who scored average marks 

(7 to 11.5) responded partially by highlighting most of the techniques used 

to protect consumers but failed to provide adequate explanation. Some of 

the candidates justified their points by explaining at least three techniques 

mixed up with some general roles of government in trade. 

 

The candidates who scored low marks (below 7) in this question had 

inadequate knowledge on the concept of consumer protection. Most of 

these candidates justified by giving only 2 correct points which were: 

setting of bureau standard and through the use of ministry of health all the 

responses were in forms of examples through. For example, one of the 

candidates’ response was TBS protect customers from buying expired 

goods and TFDA help people from consuming unsecured food and 

medicine. Other response from these candidates included trade promotion, 

advertising and environmental control all of which were incorrect. The last 

two points were about informing consumers about the availability of the 
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goods or services and not protecting the consumers. Others, instead of 

explaining the techniques used to protect consumers wrote the reasons for 

international trade, methods or techniques applied by the government to 

control imports and exports. For example, one of the candidates wrote: 

Quotas, Total ban, Imposition of tariffs, Exchange control, bureaucratic 

procedures and devaluation of currency. This response included the 

techniques to control imports and the limitations of international trade. 

Extract 16.2 presents a sample of poor a response from one of the 

candidates. 
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Extract 16.2 is a sample of a poor response in this question.  

 

The candidate scored low marks because he/she wrote the techniques used 

to increase and retain customers instead of the techniques used to protect 

consumers. 
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3.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE PER TOPIC 

 

The analysis of the candidates’ performance in each topic shows that the 

candidates had good performance in fifteen (15) topics and average 

performance in one (1) topic out of sixteen (16) topics that were examined. 

The analysis done in each topic t shows that most of the candidates had good 

performance in the topics of Trade (99.6%), Foreign Trade (99.4%), The 

Business Office (99%), Marketing (99%), Banking (98.8%), Production 

(97.8%), Insurance (97.2%), Wholesale Trade (96.4%), Advertising 

(96.3%), Role of Government in Trade (90.9%), Import trade (87.4%), 

Transport and Communication (86.4%), Organization and Management of 

Business (85.3%), Business Units (84.8%) and Contract of Sales (75.9%). 

Furthermore, it shows that the topic of Stock Exchange (39.9%) was 

averagely performed. The candidates’ performance per topic is shown in 

Appendix A.  

 

Generally, it can be said that the candidates’ performance per topic in the 

year 2019 has increased when compared to the performance in 2019. In 

2019, all topics tested had good performance except only one topic which 

was averagely performed. The candidates’ performance in the two topics 

Wholesale Trade and Import Trade was average in 2018 but in 2019 the 

performance has increased from 55.6 to 96.4 percent and 45.5 to 87.4 

percent respectively. Likewise, the topic of Insurance in which the 

candidates performed poorly in 2018 has increased. The performance in this 

topic has increased from 30.1 percent to 97.8 percent in 2019. (See 

Appendix B)  

 

4.0 CONCLUSION AND RECOMMENDATIONS 

4.1 Conclusion 

The analysis shows that the general performance of the candidates in 

ACSEE 2019 in 152 Commerce was good because 99.8 percent of all 

the candidates passed. This indicates that the majority of candidates 

were able to answer the questions as required because they had 

sufficient knowledge on the topics examined. Conversely, the 

candidates who attempted stock exchange item in paper 1 could not 

perform well because of inadequate knowledge and skills on the 

subject matter. 
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4.2 Recommendations 

In order to improve the performance of the candidates in future, the 

following recommendations are put forward:  

(i) School management via subject teachers are advised to plan for 

study tour on the topics like role of government in trade, stock 

exchange, business units. They can visit Tanzania Investment 

Centre, Ministry of Trade and Industry and Stock Exchange 

Market to enhance students understanding to study the application 

of theories leant. Teachers can also communicate with the stock 

exchange market officers to get the stock exchange booklets. 

 

(ii) Teachers are advised the guide the students on the techniques used 

to answer questions and reading the examination questions 

careful. 

 

(iii) Students should be guided on how to write essay questions. 
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Appendix A 

A Summary of the Analysis of the Candidates’ Performance per Topic  
S

/N
 

T
o
p

ic
 

N
u

m
b

er
 o

f 
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P
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a
v
er

a
g
e 

o
f 

3
5

 

p
er

ce
n

t 
o
r 

a
b

o
v
e 

R
em

a
rk

s 

1 Trade 1 99.9 Good 

2 Foreign Trade 1 99.4 Good 

3 Business Office 1 99 Good 

4. Marketing 1 99 Good 

5 Banking 1 98.8 Good 

6 Production  97.8 Good 

7. Insurance 1 97.2 Good 

8. Wholesale Trade 1 96.4 Good 

9 Advertising 1 96.3 Good 

10 
Role of Government in 

Trade 
1 90.9 Good 

11 Import Trade 1 87.4 Good 

12 
Transport and 

Communication 
1 86.4 Good 

13 

Organization and 

Management of a 

Business 

1 85.3 Good 

14 Business Units 1 84.8 Good 

15 Contract of Sales 1 75.9 Good 

16 Stock Exchange 1 39.9 Average 
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Appendix B 

Comparison of ACSEE 2018 and 2019 Candidates’ Performance per Topic  

S
/N

 

Topic 

2018 2019 
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P
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p
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R
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P
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p
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v
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R
em

a
rk

s 

1 
Trade    1 99.6 Good 

2 
Foreign Trade 1 71.75 Good 1 99.4 Good 

3 
Business Office 

1 92.8 Good 1 99 Good 

4 
Marketing 

1 96.5 Good 1 99 Good 

4 
Banking 

1 99.7 Good 1 98.8 Good 

5 
Production 

1 70.2 Good 1 97.8 Good 

7 
Insurance 

1 30.1 Weak 1 97.2 Good 

8 
Wholesale Trade 

1 55.4 Average 1 96.4 Good 

9 
Advertising 

1 89.7 Good 1 96.3 Good 

10 Role of Government 

in Trade 

1 99.6 Good 1 90.9 Good 

11 
Import Trade 

1 71.95 Good 1 87.4 Good 

12 Transport and 

Communication 

1 98.9 Good 1 86.4 Good 
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13 
Organisation and 

Management of a 

Business 
   

1 85.3 
Good 

14 
Business Units 

1 71.95 Good 1 84.8 Good 

15 
Contract of Sales 

   1 75.9 Good 

16 
Stock Exchange 

   1 39.9 Average 

 




